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551  
G436v    GIAVARA, Eduardo.    
                     Viagem ao desconhecido: o olhar científico nas  
               fronteiras do oeste paulista 1886-1905 / Eduardo Giavara.  
               � Assis, 2007. 
                      178 f. ; 30 cm. 
 
                     Tese (Doutorado em História) - Faculdade de   
               Ciências e  Letras de Assis, Universidades Estadual   
               Paulista, 2007. 
                     Orientador: Prof. Dr. Paulo José Brando Santilli. 
  

1. História - Oeste Paulista. 2. Desenvolvimento humano - 
Cultura. 3. Geografia – Comissões geográficas. I. Autor. II. Título. 
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����D�� ���  ��6������ ������� ������ �E������6����� ���  ��������� 1�!���


�������� �������6������������6�!6�6�6��������������� �����6 ����������������

6�!����3�������

+�63=6� E�������� ��� �E�������� ����  ����������� <�B�6��� 1���� ���

��6����� �� <��=� ������� >��������  ���� ����!��� 6��!������ ��  ����� �6 ���������

�!E���F��� ������ ��� A!�������45��� ���  ��������� 1�!��� ��� �������B� ��63=6�

E������������E�������� �� ����!���6��!�������� ��� �!E���F��� �!���6�������  ����

A!�������3�����E��������2������

������ �5��  ����� 6�� ��A!����� ���  ������� ��6���������2�� ��� ��45�� ���

17�%E���!�45�C� �6� �� �����C� ,� G=���� ������ ��� 
�!B�� >�����C� ������H���� ���

 7�%E���!�45�� �6� ����7���C� A!�� ������� 2�B��� 6�� ������!� ��6�  �����B�C�

������45�� �C�  ����� ��6����C�  ���.������ ��� ������� ��3����� 
�6 ���C�  ����

������45��A!����6� ����������� ��E��6����� 7�%E���!�45����

�E����4������������������E���C�������H���������� ����6������������7������

���  ������� ��� >�3�������C� �6� �� �����C� ��� �!��� 
�I!��3�� A!�� �!���� 6���!�

�����4��� ����6���!?�������

��2����63=6��E�������������6�E����������	!���2���73��E�����<��!�C�

>�!���������C��������������C�-H3������H������!���C�����������!�����A!��6��

�!2���6�������6��!E���F��� �����������������3������

�E����4�����6�����������������6������� ���� �������6���6 ������2���

�!������ �� 6����� �!�.������ ���� 6�!��  ���� �� 6�!�� ��65��� A!�� ��6 ��� 6��

� �����6��

�� ��1�
�  ���� 3����� A!�� 6��  ��6���!� �������� �� ��6 �� ������H���� ,�

 ��A!���������6C��E����4��������A!������3�����6���������!���������6����� ����

����������������������B������
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JC� �� ���������� �����6��� ��� ���=� ���6�������

�?������6�3���B�!���� ���!������ �6� ��������� !6�6������ �����������

A!�� �? �������� ��� ������� ��� ������  �!�����C� ���������� �� ��6�����

 �����2��� �=��������E���������� ����E!�������� �6 �����45�����65�%

��%�3��� �6�E������  ���� �! ���� �� ������ ��� �����2��� �6� "##$C� ��

����45�� ��� ��6���5�� 	��E�H����� �� 	���7E���� 8�		;C�  ��� ��2�����

���3KC�  ���!��!� �������� ���� �������� ��� �����C� ������ �!���6������

��� 6� ��6����� ���� ����������� �� ����  ��������������� �E��������� ��

 ��6����� 2��E�6� ��� �? ����45�� 0 � ���� ����� 
�� ������E�� ��

1����� ���6�� 0 ���!���!� �6�  !3����4F��� ��� >�����6� ��� �		� ��6�

���!���� E���7E����C� ��� �����C� ��� 2��3�������� ��� ��2�E�45�� �C�

�� �����6����C� ����  !3������� !6� �����7���� ��������� !6� ���D!����

���6� ��� A!�� �3���E��� ����� ��E�5�� ������ ��� ����1����� ���6�C� ���

������� ��� 
5�� 1�!���� �!����� 2��E���� ��� ����� ��� 1����� ���6��

���������6� ��6��� ��6�� ��� ����=���� 
��6���� �� ��6!���� L�!EC�

�!D��������7��������5�����3D���������H����������� ���3������/��E�����

�E���!��!��� ��� �? ����45�C� ��  � !��45�� A!�� 2�2��� ���� �����������

�E�������� ���4�2�%��� ��� M ����5�� 3��2��N �� ������!��6�  �A!�����

2����C� ����� 2�2��6� ���� ��2�!���� ��� �!3����.����� �� ��� ����45�� ���

���6����� ������� ��� ������ ����������C� �� ��6�6� ��2��C� ���!���� ���

���������� �E������C� ���� � ���������� ��6��  ��E!�4���C� �����2�� �C�

 �����������2���B�45�C�������A!���!�!63����
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�?�������6��I���6�3���B��� ���� ���!����� ���!��� �� �����������6�����

����� �? ������ ���� ������ ��� ���� O���� ��E���� ��� 
5�� 1�!��� �����C�

��������� ���� ��6���� ���� ��O� �E���!��!���� ������A!��� ���� ���!����

���� �6 ���������� ��� �66�E����� ��3��� ��� �!  �K� ���� ���I� ��� ���2��

��3���� 
�� "##$C� ���� ��������� ��� ���� 	��E�� ������ ���� 	����E�����

��66������� 8�		;C� 3K� ��2����� ���3KC� ������ ��� ������� ����  !� �����

��� ���� �����C� 3���E� �!���6������ ��� ���� 6�  ��E� ��� 3������� ����

�E���!��!����  ��������������� +��� ������ �? ��������� ��� � %� ��� ����


�� ������E�� ���� 1����� ���6�� ��2���%� ���!����� ���  � ���� ��� ����

1���������� ��� �		� O���� E����E����� ��!����C� �����C� ��2�E������

2��3����K� ���C� �� ������KC� �� �� ���� O���  !3������� O���� ���� 6� ��

����� ��2����� �2��K� ����� O���� ��� ���� ��2��� 1����� ���6��� ������

��� �� ���1����� ���6�������K� ��������� ��6����������=����
��6����

������6!����L�!EC�O������� �����O����3�� �����3D�����������K�������

���������������-����O�K����6������? �����E���!��!��C����� � !�������

����� ��2��� ��� ���� �E���!��!���� 3������� �!����� ��� ���� O���� ���������

���� 3!���� �6���� ��O��C� O����� ���K� ��2��� ��� ���� �!3��������P ��

���6��E� ���� ��� ���� ��������� ��� ���6����� �!�� ��� ���� �����������

E�����C� ���� ����6��C� �������� ��� ����� �E���!��!���� ��������C� O���

 ������������ ��BKC� ��O�����C� 3������ ������2���B�����C�O�!�����2�� ���
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������!6���2��!��������6 ����!6���2��!���������������� ��2����6�����

��� 6�6������ 2�E��� ��� ������H���� �E������� �!� �� ���!���6����� ����

������� 2�E�����C� �� 2���������� ��� ����!��45�� ���  ���!���� �� ���

�����6�4F��C� �� ��� ���3�������� ��� ��=����� �� ��  ���6��.����� ����� ,�

�? ����45���������!�6C������6����C�������A!��25�� ��6���������2������

�� ���!��B�C� 6����������� �����C� �������� ��6������ �� ��=� 3!������C�
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�����E�5�������������1����� ���6�C����6��E�6� �!�����C����2��4�����

M �E���!��!��� 6������N � ��6�  ����! ���� �63������������ ��  ��A!��������C� DH�

A!����!��������2�B�6�������������������������������2����E������������6������

�����E.������ ��2��5�C� �� �!����  ��B�C� ��!���� ������ ���� ��H2���� ����

���������6��� ��E��������+������E����A!�C� �6 ��E����������! �45����� H�����

��� ��������� %� �63������� 6!���� �����2���� ,�  �H����� �E������� %� ��2�6� �� !6�

 �������������E����45������2����2�����

����� ������2�� ��� �E���!��!��� ������ =�6����  ����! �����  ���� ������ A!��

�����  �H������ �������6� ���� ����� ��� 1��?�� �� 1����� ���6�C� ����� �6 ���������

6�������������HE!�������������������5�� ��!������

����������� �� �����6��� �E������� ��� ������ ��E�5�C�  ����3�6��� A!�� ���

 ��6������ ��� E������  ���!45�� ���������� ��� 6������� ��� �? ����45�� ���5��

�6 ��6��������������������������!�45�������������������? ���5�������2�!���



 %�""�%�

����2������ A!�C� ���� U���6��� ����C� �6 ���!� ��E��������2�6����� �!�� H���� ���

��!�45�� ���������� ��� �?�E.������ ���������������  ���� ��6��!�45�� ���

�A!���6�����E��3���������6���5����������!����7�����������6���������

��� ��E�5�� ��� ����� ��� 1����� ���6�C� ����� 2�B� 6���C� �� ��2�!��� ���

�? ����45��E������� �4������ �A!����� �� ����������C����������6�C�������6��

!6�6������ �6 ��������� ��� �E���!��!��� �? ��������� �� =� �������E���� �� �� �4��

 ������� �A!����� ��2�!������6����6����C���6���������������E���C��6��!�����

�����C� �������!���2������������4������� ���!45����������C��63�����������������

6��������������

���������H���C�!6���E��2�����=�A!����� �������6������2��2�6������!�

�!3�����2��2�������������!6!��6������ ����3���������������6���� ����� ����

������������� �E��������  ���� ���  ������ �����2��2����C� �� A!�� �������� �������

�63���������� ��D!�B�����!������ �����2��4������E���!��!����6�A!�����������

6!������

����6C� �� M 6������� �E���!��!��N � ������� �6� ���A!�� ��  �A!����
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